Java

Java
Java
Java

] Java 4
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p35 4-2

*Kk*x
*KhxkhkXx*x
*Kk*x

Unix

4.6
p36 4-3
a,b,c.d 100,200,250,500

a*b = 20000

a*b+c = 20250
a*b+c*d = 145000
(a+b)*(c+d) = 225000
atb*c+d = 50600
b/at+d/c = 4

4.7
p38 4-4

(1) mul =
(2 mul =
) mul = (3)27
(4) mul = (4)81
(5) mul = 16 (5)243

(13
(2)9

o A~ N P




4.8

040 e (Dsum = 1
(2)sum = 3
3
(3)sum = 6
oK 4 = 10
062 (4)sum =
iF((x % 3)==0){
7/ (5)sum = 15
}
4.9
p42
p43
A) p43
p44
5 public class BooleanTest{
5 2 boolean public static void main(String args[]){
) boolean bl,b2,b3;
bl = 2>1;
b2 = 1>2;
“ boolean ” =
b3 = true;
“ true” _
s false® iT(bl==true){

System.out.printIn('2>1 holds™);
+
1T (b2==true){
System.out.printIn('1>2 holds™);

}

iT(b3){
System.out.printin('true’™);

}

}




5.2 (char)

public class Jbvarl{
public static void main(String args[]){
char ch;
ch = "A";
System.out.printIn("'moji " + ch + “,code
ch = 66;
System.out.printIn("'moji " + ch + “,code

"+ (int)ch);

"+ (int)ch);

ch = ;

System.out.printIn("'moji " + ch + “,code
ch = 20140;

System.out.printIn("'moji " + ch + “,code

"+ (int)ch);

"+ (int)ch);

5.2

public class JbVar2{
public static void main(String args[]){

byte bt;

short s;

int i;

long 1I;

bt = 127;
s = 32760;
i 1234567890;
I 123456789012345L ;
System.out.printin(""byte = " + bt);
System.out.printIn('short = " + s);
System.out.printIn(C'int =" + 1);
System.out.printin(C"long =" + 1);




5.2

“ double”

OK

public class JbVar3{
public static void main(String
float T;
double d;
T = 123.456F;
d = 123.456789012345;

args[D{

System.out.printin("float = " + T);
System.out.printin(C"double = " + d);
f = 100.0F/3.0F;
d = 100.0/3.0;
System.out.printin("float = " + T);
System.out.printin(C"double = " + d);
by
>
5.4
“al” “ a2’
public class JbVar31{
public static void main(String args[]){
int[] a1l = {1,2};
int[] a2 = ail;
System.out.printin(al[0] =" +al[0] + ", al[1] =" +al[1]) ;
System.out.printin(az[0] =" + a2[0] + ", a2[1] =" + a2[1]) ;
al[l] = 5;
System.out.printin(al[0] =" +al[0] + ", al[1] =" +al[1]) ;
System.out.printin(az[0] =" + a2[0] + ", a2[1] =" + a2[1]) ;




5.5

p58

[ ] 6
6.1

p62
6.2

p63

public class JakEnzall{
public static void main(String args[]){
double ddt;

ddt = 10 7/ 4; System.out.printin('ddt = " + ddt);
ddt = 10.0 /7 4.0; System.out.printin(’ddt = " + ddt);
ddt = 10.0 /7 4; System.out.printin(’ddt = " + ddt);
ddt = 10 /7 4.0; System.out.printin('ddt = " + ddt);
}
¥
6.3
p63
public class JaEnzal2{
public static void main(String args[]){
int a;
a = (100 + 20) * 30; System.out.printIn(C'a = " + a);
a =100 /7 20 / 5; System.out.printIn(fa = " + a);
a =100 /7 (20 / 5); System.out.printIn(a = " + a);
a =100 /7 20 * 5; System.out.printIn(fa = " + a);
a =100 /7 (20 * 5); System.out.printIn(a = " + a);
a =100 + 20 / 5; System.out.printIn(fa = " + a);




6.4

public class JakEnzal3{
public static void main(String args[]){

int a = 0;
int b = 0;
int c = 1;

double d = 1.0;
for(int 1=0;i1<5;i++){

System.out.printIn('--—-—-—- i ="+ 1);
a += 1; System.out.printIn('a = " + a);
b -= 2; System.out.printIn(Cb = " + b);
c *= 3; System.out.println(’’c = " + C);
d /= 3; System.out.printIn(C'd = " + d);
+
+
}
6.5
P66
6.6
p67
6.7 String 6.9
public class JakEnza31{
public static void main(String args[1){
String s = "";
for(int i=0;i<5;i++){
System.out.printin(C'--—-———-—- i="+1);
s += 1; System.out.println(s = " + s);

if(s.equals('012'")){
System.out.printin(”s equals ¥"0123¥"");




s = a0
————— i=1
s = alal
————— i=2
s = alala2

s eqauls “alala2”

_____ 1 =3
s = alala2a3
_____ 1 = 4

s = a0ala2a3a4

6.8
p71
] 7
7.1if
p80
7.2 for
p84
p85

100 50 25 12

7.3 while
p88
while

50 49 47 44 40 35 29 22 14 5

7.4 do-while
p91
do-while



50 49 47 44 40 35 29 22 14 5 -5

7.5 switch
p94
P96
P98
for switch 706" (
p62)

(D [2] <3> (4) [5] <6> (7) [8] <9> (10)

7.6 break
p100
p102
10
while break 706" ( p62)
3468912 15 16 18 20
7.7 continue
p106
for continue
11
12
2889 for(....){
Ty for(....{
1234554321 !
if(....) ...
123456
for(...{
12345677654321
123456738 I
}
[ 8
8.1

p112



55 45 36 28 21 15 10 6 3 1

8.4
for
pli4
8.5
1248 16 1248 16
139 27 81 13927 81
14 16 64 256 14 16 64 256
15 25 125 625 15 25 125 625
9
9.1
abcde <
p120
abcde <
fghi =
fghi -
3 g
jkim <
jkim <
9.2
pl24
“end”
break String p68
9.3
p125
3 -
333 -
10 =
10101010101010101010 -

O - ] ”




p129

10

10.1
p135

10.2
p138

pl142

abcd
abcd

e
e
fgh
fhg

3

3 =

3 =

p143

“boolean” [

ss = “abcdef”;
x = ss.length(); «~ x
pl45

10.3
pl47

11

a=111
b=222
b=222

2 =

3 =

3 =

6 =

4 =

10 =

public class JaMet31{

public static void main(....{

}

public static boolean Cmp3(...

}

A




111

11.2
p157

p158

HDD1428
30
FDD1151
20
HDD1428
30




